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QUADRATIC EQUATIONS

1.Is the given equation a quadratic one? (i)z*> — 5z + 6 = 0

o Watch Video Solution

2. Which of the following are Q.E (ii)x + % = g2

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ExwMW2NUEAET
https://dl.doubtnut.com/l/_eVmqzZFBxcmx

3. Which of the following are Q.E (iii) (¢ — 2)® + 1 = 2z — 3

o Watch Video Solution

4. Which of the following are Q.E (iv)z(2z + 3) = z® + 1

o Watch Video Solution

5.solve for x: 4,/3z* + 5z — 2,/3 = 0

o Watch Video Solution

6. Solve the equation by the method of completing square

522 —6x — 2 =10

o Watch Video Solution



https://dl.doubtnut.com/l/_VvrrjwsWWmiG
https://dl.doubtnut.com/l/_8Xe1QTZeWDkF
https://dl.doubtnut.com/l/_pVc1xkEhTsdM
https://dl.doubtnut.com/l/_iETZSuLfvG3l

7.Solve the Q.E by Quardratic formula2z® — 6z +3 = 0

o Watch Video Solution

Exercise

1. Check whether the following are quadratic equations:(i)

(x +1)% = 2(z — 3)

o Watch Video Solution

2. Check whether the following are quadratic equations:(ii)

z? -2z = (—2)(3—x)

o Watch Video Solution



https://dl.doubtnut.com/l/_eiG5zELvyrd2
https://dl.doubtnut.com/l/_9qXVoK5LeE6F
https://dl.doubtnut.com/l/_Y8B3rpIhqRqt

3. Check whether the following are quadratic equations:(iii)(x-2)(x+1)=(x-1)

(x+3)

° Watch Video Solution

4. Check whether the following are quadratic equations:(iv)(x-3)

(2x+1)=x(x+5)

o Watch Video Solution

5. Check whether the following are quadratic equations:(v)(2x-1)(x-3)=(x+5)

(x-1)

o Watch Video Solution

6. Check whether the following are quadratic equations:(vi)

224+ 3c+1=(z —2)°



https://dl.doubtnut.com/l/_jx6oCWis1FRU
https://dl.doubtnut.com/l/_QyRdKVKfjloY
https://dl.doubtnut.com/l/_zecHrluQ9Qpb
https://dl.doubtnut.com/l/_VzoRHtAg0chA
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7. Check whether the following are quadratic equations:vii)

(z +2)° = 2z(z* — 1)

o Watch Video Solution

8. Check whether the following are quadratic equations:(viii)

-4 —2+1=(z—2)°

o Watch Video Solution

9. Represent the following situations in the form of quadratic equations:
(iThe area of a rectangular plot is 528m?The length of the plot(in
meters) is one more than twice its breadth.We need to find length and

breadth of the plot.

° Watch Video Solution



https://dl.doubtnut.com/l/_VzoRHtAg0chA
https://dl.doubtnut.com/l/_Rqfj2f44MOuv
https://dl.doubtnut.com/l/_WTAkFXLgffO7
https://dl.doubtnut.com/l/_fudhEWwBQAYO

10. Represent the following situations in the form of quadratic equations:
(ii) The product of two consecutive positive integers is 306.We need to

find the integers.

o Watch Video Solution

11. Represent the following situations in the form of quadratic equations:
(iThe area of a rectangular plot is 528m?The length of the plot(in
meters) is one more than twice its breadth.We need to find length and

breadth of the plot.

o Watch Video Solution

12. Represent the following situations in the form of quadratic equations:
(iv)A train travels a distance of 480 km at a uniform speed.If the speed
had ben 8 km/h less,then it would have taken 3 hours more to cover the

same distance.We need to find the speed of the train.

[ D war_a_L vl e~_ 1.0 ]


https://dl.doubtnut.com/l/_grWXa2OtmQHa
https://dl.doubtnut.com/l/_tVH7lTn7ct2F
https://dl.doubtnut.com/l/_TnvkAvRXFD1k
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13. Find the root of the following quadratic equations by factorisation:(i)

22 —-32-10=0

° Watch Video Solution

14. Find the root of the following quadratic equations by factorisation:(ii)

202+ —-6=0

o Watch Video Solution

15. Find the root of the following quadratic equations by factorisation:(iii)

V222 4+ T +5y2=0

° Watch Video Solution



https://dl.doubtnut.com/l/_TnvkAvRXFD1k
https://dl.doubtnut.com/l/_xEJMldKaID23
https://dl.doubtnut.com/l/_qmWLgMOtLcFu
https://dl.doubtnut.com/l/_lpB6y765Guzp

16. Find the root of the following quadratic equations by factorisation:(iv)

2 — ot~ —
T m+8—0

o Watch Video Solution

17. Find the root of the following quadratic equations by factorisation:(v)

10022 — 20z +1 =0

° Watch Video Solution

18. Solve the problems given in Example 1.(i) z? — 45z + 324 = 0

° Watch Video Solution

19. Solve the problems given in Example (ii)z? — 55z + 750 = 0

° Watch Video Solution



https://dl.doubtnut.com/l/_7ZRVKZAhvJFh
https://dl.doubtnut.com/l/_fOMCiirkNCKk
https://dl.doubtnut.com/l/_2FV8dUA049vT
https://dl.doubtnut.com/l/_NWqDRP3Y0lbY
https://dl.doubtnut.com/l/_6kobmxeHr9KG

20. Find the numbers whose sum is 27 and product is 182.

o Watch Video Solution

21. Find two cosecutive positive integers,sum of whose squares is 365.

o Watch Video Solution

22. The atitude of a right triangle is 7 cm less than its base.f the

hypotenuse is 13 cm,find the other two sides.

o Watch Video Solution

23. A cottage industry produces a certain number of pottery articles in a
daylt was observed on a particular day that the cost of production of

each articles (in rupees)was 3 more than twice the number of articles


https://dl.doubtnut.com/l/_6kobmxeHr9KG
https://dl.doubtnut.com/l/_hhULro0j5vGN
https://dl.doubtnut.com/l/_wv7n6yHVzFEd
https://dl.doubtnut.com/l/_OB1294xC0g2O

produced on that day.lf the total cost of production on that day was

Rs.90,find the number of articles produced and the cost of each articles.

o Watch Video Solution

24.Find the roots of the following quadratic equations,if they exist,by the

method of completing the square:(i)2z%> — 7Tz +3 =0

° Watch Video Solution

25.Find the roots of the following quadratic equations,if they exist,by the

method of completing the square:(ii)2z> + 2 — 4 = 0

o Watch Video Solution

26.Find the roots of the following quadratic equations,if they exist,by the

method of completing the square:(iii)4z* + 4,/3z + 3 = 0

o Watch Video Solution



https://dl.doubtnut.com/l/_OB1294xC0g2O
https://dl.doubtnut.com/l/_8HgKxCbNOc6a
https://dl.doubtnut.com/l/_O6tNn4J3rtbc
https://dl.doubtnut.com/l/_C8kI2mM1CHGg

27.Find the roots of the following quadratic equations,if they exist,by the

method of completing the square:(iv)2z% + = + 4 = 0

o Watch Video Solution

28. Find the roots of the quadratic equations given in Q-1 above by

applying the quadratic formula(i)2z? — 7z +3 =0

o Watch Video Solution

29. Find the roots of the quadratic equations applying the quadratic

formula(iil2z> + 2z —4=0

° Watch Video Solution



https://dl.doubtnut.com/l/_C8kI2mM1CHGg
https://dl.doubtnut.com/l/_YO0roKlqsGiC
https://dl.doubtnut.com/l/_JuDS87CXmnQx
https://dl.doubtnut.com/l/_Ht3HW5dgLW3h

30. Find the roots of the quadratic equations by applying the quadratic

formula.(iii)4z? + 4,3z +3=0

° Watch Video Solution

31. Find the roots of the quadratic equations by applying the quadratic

formula.(iv)2.7v2 +xz+4=0

° Watch Video Solution

1
32.Find the roots of the following equations:(i)z — Pl 3,z #0

° Watch Video Solution

33. Find the roots of the following equations:(ii)

1 111 L aq
c+4 z—7 307 ’

° Watch Video Solution



https://dl.doubtnut.com/l/_M6QiwLdZ59wC
https://dl.doubtnut.com/l/_GT6XKu06SjfS
https://dl.doubtnut.com/l/_ISbYPm4bapNu
https://dl.doubtnut.com/l/_lzPZGYiTucNv

34. The sum of the reciprocals of Rehman's ages,(in years) 3 years ago

and 5 years from now is 1/3.Find his present age.

AT

B. 10

C.6

D.5

Answer: A

o Watch Video Solution

35.1n a class test,the sum of Shefail marks in Mathematics and English is
30.Had she got 2 marks more in Mathematics and 3 marks less in English
;the product of their mark would have been 210.Find her marks in the two

subjects.

o Watch Video Solution



https://dl.doubtnut.com/l/_lzPZGYiTucNv
https://dl.doubtnut.com/l/_8Ui0AZUBOOCp
https://dl.doubtnut.com/l/_JvaLkeQTVLRM

36. The diagonal of a rectangular field is 60 meters more than the shorter
side.If the longer side is 30 meters more than the shorter side,find the

sides of the field.

o Watch Video Solution

37. The difference of squares of two numbers is 180.The square of the

smaller number is 8 times the larger number.Find the two numbers.

o Watch Video Solution

38. A train travels 360 km at a uniform speed.If she had been 5 km/h
more,it would have taken 1 hour less for the same journey.Find the speed

of the train.

o Watch Video Solution



https://dl.doubtnut.com/l/_JvaLkeQTVLRM
https://dl.doubtnut.com/l/_cSr5veNu9gkv
https://dl.doubtnut.com/l/_OxZMAvVvs3mT
https://dl.doubtnut.com/l/_cjQnq07WAEbq
https://dl.doubtnut.com/l/_TrgMNLPJf2YB

3
39. Two water taps together can fill a tank in 9<§> hours.The tap of

larger diameter takes 10 hours less than the smaller one to fill the tank

separately.Find the time in which each tap can separately fill the tank.

o Watch Video Solution

40. An express train takes 1 hours less than a passenger train to travel
132 km between Mysore and Bangalore (without taking into
consideration the time they stop at intermediate stations).If the average
speed of the express train is 11lkm/h more than that of the passenger

train,find the average speed of the two trains.

o Watch Video Solution

41.Sum of the areas of two squares is 468m?.If the difference of the their

perimeters is 24 m,find the side length of the two squares.

° Watch Video Solution



https://dl.doubtnut.com/l/_TrgMNLPJf2YB
https://dl.doubtnut.com/l/_jp0tLJHrTj8x
https://dl.doubtnut.com/l/_TFBcl0zaLF8Z

42. Find the nature of the roots of the following quadratic equations.If

the real roots exist,find them:(i)2m2 —3r+5=0

° Watch Video Solution

43. Find the nature of the roots of the following quadratic equations.If

the real roots exist,find them:(ii)?;x2 — 4\/§a: +4=0

o Watch Video Solution

44. Find the nature of the roots of the following quadratic equations.If

the real roots exist,find them:(iii)2z2 — 6z + 3 — 0

o Watch Video Solution

45. Find the values of k for each of the following quadratic equations,so

that they have two equal roots.(i)2z% + kz + 3 =0



https://dl.doubtnut.com/l/_ay1EZnq0sIGU
https://dl.doubtnut.com/l/_5afghZ1VPHj6
https://dl.doubtnut.com/l/_7Wq952w1Dmz0
https://dl.doubtnut.com/l/_HVg6nTah3DZ5

l @@ Watch Video Solution J

46. Find the values of k for each of the following quadratic equations,so

that they have two equal roots.ii)kx(x-2)+6=0

o Watch Video Solution

47. Is it possible to design a rectangular mango grove whose length is

twice its breadth,and the area is 800m22If so,find its length and breadth.

o Watch Video Solution

48. Is the following situation possible?If so,determine their present
ages.The sum of the ages of two friends is 20 years.Four years ago,the

product of the their ages in years was 48.

o Watch Video Solution



https://dl.doubtnut.com/l/_HVg6nTah3DZ5
https://dl.doubtnut.com/l/_n6qghi8mVnMa
https://dl.doubtnut.com/l/_grvv5okZBru5
https://dl.doubtnut.com/l/_HjadxyPE1qtt
https://dl.doubtnut.com/l/_TOolMEthgrfO

49. s it possible to design a rectangular park of perimeter 80 m and area

400m2?If so,find its length and breadth.

o Watch Video Solution

50. Solve the following quadratic equation by the method of

factorisation:(i)z? + 3z — 18 = 0

° Watch Video Solution

51. Solve the following quadratic equation by the method of

factorisation:(ii)2ac2 —1lx+12=0

o Watch Video Solution

52. Solve the following quadratic equation by the method of

factorisation:(iii)6z> —z — 2 =10

[ o Watch Video Solution


https://dl.doubtnut.com/l/_TOolMEthgrfO
https://dl.doubtnut.com/l/_xDURDFtqUvCL
https://dl.doubtnut.com/l/_KNxo2Cs6A7cm
https://dl.doubtnut.com/l/_xCYaws1GDLdu

53. Solve the following quadratic equation by the method of

factorisation:(iv)Sac2 —22x —21=0

o Watch Video Solution

54. Solve the following quadratic equation by the method of

factorisation:(v)z? — z — 110 = 0

o Watch Video Solution

55. Solve the following quadratic equation by the method of

factorisation:(vi)48:/r:2 —13z—-1=0

o Watch Video Solution



https://dl.doubtnut.com/l/_xCYaws1GDLdu
https://dl.doubtnut.com/l/_01FkaUuF0kyI
https://dl.doubtnut.com/l/_GU5zC71460wj
https://dl.doubtnut.com/l/_KFxXcXlUoI5I

56. Solve the following quadratic equation by the

factorisation:(vii)18z2 + 3 = 29z

method of

° Watch Video Solution

57. Solve the following quadratic equation by the method of
factorisation:(viii)4 — 11z = 32

o Watch Video Solution
58. Solve the following quadratic equation by the method of
factorisation:(ix)6z> + 40 = 31z

o Watch Video Solution
59. Solve the following quadratic equation by the method of

factorisation:(x)4z> — 9z = 100



https://dl.doubtnut.com/l/_wrnzP2Ng3FAU
https://dl.doubtnut.com/l/_zcSi1MXoR5f7
https://dl.doubtnut.com/l/_sBajlmMjvL6g
https://dl.doubtnut.com/l/_Hz8ift6lXtS6
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60. Solve the following quadratic equation by the method of

17 3
factorisation:(xi)5z2 — 73: + 3

o Watch Video Solution

61. Solve the following quadratic equation by the method of

1 1
2 - —=0

factorisation:(xii)x 12 12

o Watch Video Solution

62. Solve the following quadratic equation by the method of

factorisation:(xiv)y/3z> + 10z + 7,/3 = 0

o Watch Video Solution



https://dl.doubtnut.com/l/_Hz8ift6lXtS6
https://dl.doubtnut.com/l/_M6pYb13YRSEu
https://dl.doubtnut.com/l/_GSp5enKA10PS
https://dl.doubtnut.com/l/_XYHyzBs2zxKV

63. Solve the following quadratic equation by the method of

factorisation:(xv)z> + 2¢/2z — 6 = 0

° Watch Video Solution

64. Solve the following quadratic equation by the method of

factorisation:(xvi)\/§:1:2 + 11z +6,/3 =10

o Watch Video Solution

65. Solve the following quadratic equation by the method of

factorisation:(xvii)z? — 2az + a> — b* = 0

o Watch Video Solution

66. Solve the following quadratic equation by the method of

factorisation:(xviii)4z® — 2(a® + b°)z + a’b® = 0

[ - )|


https://dl.doubtnut.com/l/_BVjgG2RYASBg
https://dl.doubtnut.com/l/_APrlT2rc6BzA
https://dl.doubtnut.com/l/_17s2lNEi1M68
https://dl.doubtnut.com/l/_fYDlumsuoKg7
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67. Solve the following quadratic equation by the method of

factorisation:(xix)a?b?z? + b’z — a’z — 1 =0

o Watch Video Solution

68. Solve the following quadratic equation by the method of

1 1 1 1
factorisation:(xx) ————— = — + — 4+ — b0
acorlsalon(xx)a_i_b_|_a3 a+b+x’a+ +

o Watch Video Solution

69. Solve the following quadratic equation by the method of

factorisation:(od) 2z n 1 N 3z +9 0
actorisation:(xxi =
z—-3  22+3  (z—23)(2c+3)

o Watch Video Solution



https://dl.doubtnut.com/l/_fYDlumsuoKg7
https://dl.doubtnut.com/l/_Tb9RB1zJZHnT
https://dl.doubtnut.com/l/_Hd2INh14Vzob
https://dl.doubtnut.com/l/_E0i3S6MEJpZA

70. Solve the following quadratic equation by the method of

1
factorisation:(xxii) = j_ T + ? 1_ = i)—;l, x#0,x# —1

° Watch Video Solution

71. Solve the following quadratic equation by the method of
5 -3
’ 07_
2z + 3 z 7 2

factorisation:(xxiii)— — 3 =
x

o Watch Video Solution

72. Solve the following quadratic equation by the method of

r—1 m—3_10

factorisation:(xxi = —, 2,4
actorisa Ion(XXIV).’E—2+$—4 3 x #

o Watch Video Solution

73. Solve the following quadratic equation by the method of

factorisation:(xxv)


https://dl.doubtnut.com/l/_TXZj1cbZi0gZ
https://dl.doubtnut.com/l/_BQ1n3x78nwB8
https://dl.doubtnut.com/l/_sPg97VBsWbbM
https://dl.doubtnut.com/l/_DG5RVs4jVhsb

1 1
@-D@-2  (@-2@-3 @ (z-3)(z—_4

1
= E(ZL‘ 75 1, 2, 3,4)

o Watch Video Solution

74. Solve the following quadratic equation by the method of completing

square:(i)6y2 —y—2=0

° Watch Video Solution

75. Solve the following quadratic equation by the method of completing

square:(i)z® + 8z +4 =0

o Watch Video Solution

76. Solve the following quadratic equation by the method of completing

square:(iii)gx2 + 3x = 2

o Watch Video Solution



https://dl.doubtnut.com/l/_DG5RVs4jVhsb
https://dl.doubtnut.com/l/_f5ddrD7Q8Xi1
https://dl.doubtnut.com/l/_zoYShRz7rp4w
https://dl.doubtnut.com/l/_PWw1ESNe9Yn0

77. Solve the following quadratic equation by the method of completing

square:(iv)z? — (a + b)z 4+ ab = 0

° Watch Video Solution

78. Solve the following quadratic equation by the method of completing

square:(v)aza:2 — 3abz + 26> = 0

o Watch Video Solution

79. Solve the following quadratic equation by the method of completing

square:(vi)2aac2 + (4 — a2)x —2a=0

o Watch Video Solution

80. Solve the following quadratic equation by the method of completing

square:(vii)a?b’z® — 3abz + 2b°> = 0



https://dl.doubtnut.com/l/_E2dsrh4nFeW9
https://dl.doubtnut.com/l/_DEyLUg8q9UUP
https://dl.doubtnut.com/l/_CbIrZVa72KeE
https://dl.doubtnut.com/l/_UKmEgMMulhoN
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81. Solve the following quadratic equation by the method of completing

square:(viii)z? — (\/g + 1):13 +43=0

o Watch Video Solution

82. Solve the following the quadratic equation by applying the quadratic

formula:(i)6z> + z — 2 =0

o Watch Video Solution

83. Solve the following the quadratic equation by applying the quadratic

formula(ii)sz? — 8z — 4 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_UKmEgMMulhoN
https://dl.doubtnut.com/l/_RfboES5HCDC2
https://dl.doubtnut.com/l/_KBCcVoHcPD79
https://dl.doubtnut.com/l/_6DlI6IoFed2T

84.Solve the following the quadratic equation by applying the quadratic

formula(iii)dz?® — 20z + 25 = 0

° Watch Video Solution

85. Solve the following the quadratic equation by applying the quadratic

formula(iv)2z2 + 5,3 +6 =0

o Watch Video Solution

86. Solve the following the quadratic equation by applying the quadratic

formula(v)35z% + 13z — 12 = 0

o Watch Video Solution

87. Solve the following the quadratic equation by applying the quadratic

formula(vi)z? — az = 6a?



https://dl.doubtnut.com/l/_1SoD3xBGcmJJ
https://dl.doubtnut.com/l/_hkl58mHqCRRU
https://dl.doubtnut.com/l/_vosB5sLAIMTj
https://dl.doubtnut.com/l/_vpPP8SG9sAef
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88. Solve the following quadratic equation by applying the quadratic

Formula(vii)pza:2 + (p2 — q2)$ - q2 =0

o Watch Video Solution

89. Solve the following the quadratic equation by applying the quadratic

formula(viii)abz? + (b2 — a,c)a: —bc=0

o Watch Video Solution

90. Solve the following the quadratic equation by applying the quadratic

formula(ix)(b + 2¢)z® + 3(b+ )z + (2b+¢) =0

o Watch Video Solution



https://dl.doubtnut.com/l/_vpPP8SG9sAef
https://dl.doubtnut.com/l/_sb2mQkN78y3O
https://dl.doubtnut.com/l/_8QuaCYl3Rrx2
https://dl.doubtnut.com/l/_9AAPpJVG7NJ4

91. For which value of k the quadratic equation

(k + 4)z? + (k + 1)z + 1 = 0 has equal roots find that value

° Watch Video Solution

92. If the roots of the quadratic equation 3z* + (6 4 4a)z + 8a = 0 will

be equal then find the value of a.

o Watch Video Solution

93. Sum of two numbers is 15.If the sum of their reciprocal is 3/10 then

find the numbers.

o Watch Video Solution

94. Divide 16 into two parts such that twice the square of the larger part

exceeds the square of the smaller part by 164.



https://dl.doubtnut.com/l/_Z6iZAzqqFQg2
https://dl.doubtnut.com/l/_RkD0RhNqCLoF
https://dl.doubtnut.com/l/_fygnoN3YeCI0
https://dl.doubtnut.com/l/_00YUTqtBnzQi
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95. One year ago a man's age was 8 times of his son's age.At present his

age is square of his son's age.Then find their present age.

o Watch Video Solution

96. The quadratic equation is
1
a)z(z+1)+8=(z+2)(z — 2) b)a® + — =5 0)
x
z® -2z — 7 —-5=0dz’>+6z—-4=0
A, X(X+1)+8=(x+2)(x-2)
1
B.z> + — =5
72

C.m2—2a:—\/5—5:0

D.z2+6z—-4=0

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_00YUTqtBnzQi
https://dl.doubtnut.com/l/_wYslNpUpzdAb
https://dl.doubtnut.com/l/_KV1PQ0yDBE8i

97. The roots of the quadratic equation z* + 6z + 5 = 0
a)5,1b)2,3 ¢)6,-1d)-2,-3

A.-5,1

B.2,3

C. 6,1

D.-2,-3

Answer:

° Watch Video Solution

98.1f ax? + bx + ¢ = Ohas equal roots,then,c=

)bb) b )bzd) v
2a C4a " 4a
Ab

" 2a

b

2a


https://dl.doubtnut.com/l/_KV1PQ0yDBE8i
https://dl.doubtnut.com/l/_BgDvulNRzkWG
https://dl.doubtnut.com/l/_x8GcS7qdf7NH

Answer:

o Watch Video Solution

99. If 22 — 4z + p = Ohas real roots then

CP>14

D.P <4

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_x8GcS7qdf7NH
https://dl.doubtnut.com/l/_a2ap3sk1gIHW

100. The roots of the equation z? — /32 — = + /3 = O are

A3, —1
B./3,1
C.—+/3,1

D.—/3, — 1

Answer:

o Watch Video Solution

101. The roots of the equation az? + = + b = 0 are equal if

A. ab=1/4
B.b? = 4a
C.b% < 4a

D. b > 4a


https://dl.doubtnut.com/l/_Vl5hETYZvpuy
https://dl.doubtnut.com/l/_5gP0fJgc7eZc

Answer:

o Watch Video Solution

102. If x=1 is a common root of equations ax"2+ax+3=0 and

22 + z + b = Othen ab=

Al
B.2
C.3

D.4

Answer:

o Watch Video Solution

103. The equation az? + 2z + a = 0 has two distinct roots,if

o Watch Video Solution



https://dl.doubtnut.com/l/_5gP0fJgc7eZc
https://dl.doubtnut.com/l/_GSRiea2HhlCR
https://dl.doubtnut.com/l/_jerYE1IYI4Lv

104.1f % + 2(k + 2)z + 9k = 0 has equal roots then k=
a)-1,4 b)1,-4 ¢)-1,-4 d)1,4

A -14

B.1,-4

C.-1,4

D. 1,4

Answer:

o Watch Video Solution

105.If 8 is a root of the equation > — 10z + k = Othen the value of k is

a)16 b)2 ¢)8 d)-8

A.16

B.2


https://dl.doubtnut.com/l/_jerYE1IYI4Lv
https://dl.doubtnut.com/l/_6KQ3bvMgXwx4
https://dl.doubtnut.com/l/_sY5qFCOTHa1D

C.8

Answer:

o Watch Video Solution

106. If a and b are the roots of the equation z? + az + b = 0then a+b=

Al

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_sY5qFCOTHa1D
https://dl.doubtnut.com/l/_cX2i1pPrsXpj

107. If one root of the equation 2% + az + 3 = 0 is 1then its other root
is

a)2 b)-2 )3 d)-3

A2

Answer:

o Watch Video Solution

108. The positive value of k for which the equation z* 4+ k2 + 64 = 0 and
2 — 8z + k = 0 will both have real roots,is

a)4 b)8 )12 d)16

A4


https://dl.doubtnut.com/l/_8JkRnsqeaP0j
https://dl.doubtnut.com/l/_JbuwFK4vXYui

B.8

C.12

D.16

Answer:

o Watch Video Solution

109. The roots of the equation V2x% + 52 + 2¢/2 = O are
a)Rational b)lrrational c)Complex d)None of these

A. Rational

B. Irrational

C. Complex

D. None of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_JbuwFK4vXYui
https://dl.doubtnut.com/l/_1CDUk9qZC3pK

110. The value Of \/6 4 \/6 BT is

a)-2b)3.5¢)3d)4

B.35
C.3

D.4

Answer:

o Watch Video Solution

111. For the quadratic equation 2% — 2z + 1 = 0 the value of x+1/x is

a)1b)-1¢)2 d)-2

A1l


https://dl.doubtnut.com/l/_1CDUk9qZC3pK
https://dl.doubtnut.com/l/_tY9Dxj0cTNrP
https://dl.doubtnut.com/l/_OqK3CcpMae2y

C.2

Answer:

o Watch Video Solution

112. If the equation (a,2 —I—b2)a:

equal roots, then

A. ad=bc
B. ab=cd
C.ab = +/bc
D.ab = /cd

Answer:

— 2(ac + bd)z + (¢ +d*) =0 has

o Watch Video Solution



https://dl.doubtnut.com/l/_OqK3CcpMae2y
https://dl.doubtnut.com/l/_8iNa6cJidUlR
https://dl.doubtnut.com/l/_AWbEjCRQa5Nz

13. If (a® +b%)z® + 2(ac + bd)z + (> + d*) = 0 has no real roots

then
A.ac = bd
B.ab = cd
C.ad # bc
D.ad = bc
Answer:

o Watch Video Solution

114. The roots of the equation az? + bz + ¢ = Owill be reciprocal of each
other if

a)a=b b)c=a c)b=c d)None of these


https://dl.doubtnut.com/l/_AWbEjCRQa5Nz
https://dl.doubtnut.com/l/_KAchvMMWH97m

C.b=c

D. None of these

Answer:

o Watch Video Solution

115. The roots of the equation az® + bz +c =0 will be equal in
magnitute but opposite in sign then b=
a)0 b)c/ac)1d)1/a

A.O

B.c/a

C.1

D.1/a

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_KAchvMMWH97m
https://dl.doubtnut.com/l/_lU1uo4cB8u68



https://dl.doubtnut.com/l/_lU1uo4cB8u68

